Hit
WEER S=1/100

WMEShERRIER S=1/200 B ERR
11,000
we EZ we EER ) ERPBORERIE
%, A 18,6011 8.8705 165.0001 g g
3 B 18.6011 8.8705 165.0001
EERAE 330.0003
A 8 8
~ ANER 165.0001 g gﬁnﬁﬁé% % g
g & g [ 16500 15 %
= 7 2 JERSUY 1SS SO - - 51", . SO — 8
. : :
X0 X2.5 xg |FKEEA o
& 8 1850 N4 o5 N g 5005 186 8
BM=£0 ERFEBES A
- $EH=1200
ERERR 11,000 f 8
11,000 L E0 O e Y = ; 0f) S
i'ﬁ% i B =
i R i ~
WIBRERRVREEARER $=1/200 W2REKERRER $=1/200 BEREHER viz 3 - T
P = = B | Fapt : N gmmoEre 0 BEEORE  372m
X0 X25 X4 X45 X8 X0 X4 X8 a 091 2.185 1.988 o i 2 ‘f;: REASD LGS 3.386 m
L s ok ol L & A 3.64 282 10.264 2 il L
| 2275 2185 _ 2820 | | 3840 3640 | - - - 3 iF Vit _
B 2.73 2185 5.965 ik )
[ 364 3.64 13.249 !
Yi2 3— o +0
g T | g T w5 RS t
T o A b=d . . K e« © r g o
b 8 8 8 F 364 273 9.937 % (400), g
v8 3- 8 G 728 364 26499 ?,é o
o - K = H 3.64 3.64 13.249 2 § iy 8
g c g H N I 364 364 13249 EIT i g s
- 3Y5 J 455 3.64 16.562 2‘! £ =
S G g K 273 364 9.937
§ o 2 g
= F g 1 Y 8 S
Y2 3‘3 e 3 = 1REERER A+B+C+D+E+F+G= 69226 n?
vo 3_5‘ 1v0 = 6922 nf 1000 1000
“ 2PEBR IRk H++J+K= 52997 n? B 5
010 2730 | 3640 3640 3640 = 5209 n? TS0 ! ’/_’3'*-‘ 200
o M ~ b = ERERCERHRER) e |
xoxi X X X X X 1BEERER 2R ER= 12221 nf !
BEER A BEER= 11214 oF < }
7121 nt Yo 4 T :
il NI
M BEEER  S=1/200 Hit ! ! o
O S N T v T I g
X0 Xx25 X8 8
W b b 1 2 3 5 1 @ 5 @
2275 5005 3
. 11,000 8
2275 5205 vEM£0 +400 +400 +400 +400 +0 +0 N BH=1.200 BEIB 1S 4R [ JaK|
iz 1 2 e N = ~ HAARERBERBED 1860 7280 1860 O wn
; =0 4 100 8{ ) 5205 11120 7480 7480 2275 | 3640 ARENI0 e B¢
S " 37200 I 11000 = O mk#2000
IR
ve 5 e ;‘0‘ xls B =BM+336mm
o0 SJ ol o &&m HEm X n? 88T = 1251 n? /37.20m BMALDBESERY
g8 1 5.205 04 2082 =0.33639m
- o 11.12 04 4448
=BM+336
& §; n 748 04 2992 +336mm
100 100 = 7.48 04 2992
e 1 £ 2.275 0 0
o
+400 v} +40D ~ 3.64 0 0
Y0 3 CD; =
7480 &E | 3720 12514
7280
X0 X8
- - E2$3°3 ‘EF!
—gezrErr OOt 2 —BEREEER HEEEHETE
~BBRETEHHOONBRHEO000S — - A
—BEETOO00OKEEHHEOOOOE REE I !
BE &E{V;% =8 i 1/100 02
=5 |




	20070905003357729.pdf
	20070905004411829



